110 85188 CADY DV O— K- YU TILOTHER SBLEDEE F—LR—Ih5 | www.iwata-fa.jp

RoHS2

BEm

P o ‘
C K&y {gﬁtﬂﬁ ][]
‘— . I \) _—®
, XHYH—RRUY M5 etrindee 20| )
ZUy MEEICKD. ¥ v T MEEDIF BT LB HHHIHTEET . 2 011801
FYN—HDEH BRELE [CRDFREZENLET .

hFA - BEEE BREE_ T AF SUS304

HERS 8 RENE HESR
Z [ S45C HFABEEE | AANMKLNELRD) 1£
M | §% S45C  EERE_yiLdvF | RERTFEILLSUSXMT) 14

SCS0310 Z D

S | ZF>L-X SUS304 AR (SUSXMT) 17
RE3mm. §10mm. H F 4 > BERE
YL gL ik =
\ |
: 1S B
m [m]
© A3
x L = - —
] 3 o BIELE
| ¢B nE
P —~ | +0.03
W t +0.05
08~45 | 1503
+0.06
Y L 050 | 1g0]

EEEE
2yl SUS304

3 2 1 : 3 5| M3x8 | SCS 0310 D 680 | 1,150
4 |10 |15 | 2 | A70 | 1 45| 3 | 45| M3x8 |SCS0410( D | 650 680 | 1,150
5 1220 2 | A70 | 1 6 4| 6 M4ax1 | SCS05120 D | 650 680 | 1,200
6 |12 | 20| 2 | A70 | 1 6 4| 6 | M4ax10 | SCS0612( D | 650 680 | 1,200
8 |18 | 30| 3 | A9 |15 9 5|10 | M6x15 | SCS0818 D | 750 | 800 1,500
10 | 18 | 35 | 3 [ A90 | 1.5 |10 6 | 125 | M6x18 | SCS 1018[ D 800 850 | 1,650
12 | 18 | 35 | 3 | A90 | 1.5 | 11 6 | 125 | M6x18 | SCS1218( /D | 800 850 | 1,650
13 | 18 | 35 3 A90 | 1.5 | 11 6 |125| M6x18 | SCS 1318[ 1D 800 850 | 1,650
15 | 18 | 40 | 3 | A90 | 1.5 |13 8 |13 | M6x20 | SCS1518 D | 950 | 1,000 @ 1,850
16 | 18 | 40 = A90 | 1.5 |13 20812 M6x20 | SCS 1618[ 1D 950 | 1,000 | 1,850
17 | 18 | 40 | 3 | A90 | 1.5 |13 8 |13 | M6x20 | SCS1718[ D | 950 | 1,050 @ 2,050
18 | 18 | 45 | 3 | A90 | 15 |15 8 |15 | M6x20 | SCS 1818 D | 1,050 | 1,100 | 2,050
20 | 20 | 45 | 5 | A90 | 15 |15 8 |15 | M6x20 | SCS 2020 D | 1,100 | 1,150 | 2,100
25 | 20 | 50 | 5 | A90 | 1.5 |18 10 |18 | M6x25 | SCS 2520 D | 1,250 | 1,300 | 2,600
30 | 20 | 55 | 5 | A90 | 1.5 |20 10 | — | M6x25 | SCS 3020 |D | 1,300 | 1,350 | 2,750
35 | 20 | 60 | 5 | A90 |2 |23 12 | — | M6x25 | SCS 3520[ |D | 1,500 | 1,600 | 3,100
40 | 23 | 70 | 5 | A90 | 2 |26 13 | — | M8x30 | SCS 4023 D | 1,800 | 1,900 | 4,200
45 | 23 | 75 5 A90 | 3 28 14 | — | M8x30 | SCS 4523 |D | 2,000 | 2,150 | 5,100
P) 50 | 27 | 86 | 5 | A90 |3 |32 16 | — |M10x35| SCS 5027 D | 2,150 | 2,300 | 5,900

d

iwata



